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D)123 @ 11V3
@ 193 ® 183

® 10V3

. AB
tan60 —E—\/g

AB =123




@ sin32° =0.52
© cos34°=0.83
© tan36°=0.73
® 2sin42°=1.34

@ 3cosd44°=2.1

A= At@l(sin) | FApQl(cos) | EHHIE (tan)
31° 0.51 0.86 0.60
32° 0.52 0.85 0.62
33° 0.54 0.84 0.65
34° 0.56 0.83 0.67
35° 0.57 0.82 0.70
36° 0.59 0.81 0.73
37° 0.60 0.80 0.75
38° 0.62 0.79 0.78
39° 0.63 0.78 0.81
40° 0.64 0.77 0.84
41° 0.66 0.75 0.87
42° 0.67 0.74 0.90
43° 0.68 0.73 0.93
44° 0.69 0.72 0.97
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cos44° = 0.72°]| 2 & 3cos44° = 2.16 ©|T}.




o} 4H2H] o] H2 0]-8k0] tan52° - sin55° + cos53° 2] S T
sholat

—

(sin) (cos (tan)
52° 0.7880 0.6157 1.2799
GEN 0.7986 0.6018 1.3270
54° 0.8090 0.5878 1.3764
i 0.8192 0.5736 1,4281

Abe! AR HHE

tan 52 ° = 1.2799
sin 55 ° = 0.8192
cos 53 ° = 0.6018
w (F4]) = 1.2799 - 0.8192 + 0.6018 = 1.0625
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/B:/C=1:3°]BE2 /B=180°x i = 45°0|t},

AABO = l x OABCD

:ZX10X8XSin45°
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ths 183 o] AZFE ABCD 9
€ 0 7F sk Qlek. AB = 7em
CD =1lcm ¥ ®, AD+BC 9] #<&
-otofet,

AB+CD=AD+BC o|E&2
7+11=AD +BC
.. AD +BC =18 (cm)




o2 I™HAA zx, 2y & A7]E?

T
Q 60°
Y
@Ax =60°, /y=30° @ /x=90° 1y=55°
@ sx=40°, 1y =50° @ /x=40°, 1y =60°

® /x=60° 1y =060°

Lx = 60°, Zy =180°—60°—90° = 30°




8. kg I-olH BDM = x° 2 & 1, x 9]
e atolet

® 20° @)25° ® 30° @ 35° ® 40°

St YoflA o7t T2 SO gt Y52 A7|= ooz
/ADM = /BDM = 25°9]t}.




thS IF oA AFZtE ABCD 7F € O 9
sk, Yo FAolA & @ AB, AC 7}
219l A7k A& et /ADC = 110° ¢
o, x o] gk= F-stofzt,

Ao FAoA T @ AB, AC 7HA]9] A7t Az gong
AABC £ o] HAZ ol

T3+ A}z ABCD 7F WAst2 2 /ABC + 110° = 180° .-
(ABC = 70°

webA], x° =180°—70°x 2 = 40° o]t}
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10. o2 JZ4+2be ABC oA 2 A

@cosA-l—smA— p
@tanA—Z B ’
(@)sinB § c
g
@ tanB = =
® cosB xcosA = %
BC = V152 -92 = 12
B 4
@ tan A = C:_
AC 3
AC
@taunB—:g:;1
BC AC 4 3 12
B A= == =-X== =
® cosB x cos = AB 5><5 25




11. 9= 1"E °

4ot tanx ©] =

ot et ’
T 30
o 2- 43 @ 3—2«/3 2)2- 3
@ 2(1-2+3) o 3(1- V3)
3 3

AD = BD = 2AC = A
6 \
DC = V3 AC=3V3 B/‘%l?
BC=6+3V3olE2 "D C

3 32-+3)
tanx—6 3\/_ 3 _2—\/§




12.

the AZAZROIA x, y O FE Fol A 2

ol gto] 4h7u] 2 L A9

® x=5sin20°,y=

tan 20°
5

sin 20°
y = 5sin 20°
5

~ tan20° r= cos 20°
5 5

5 5
@x tan20° °°  sin20°

, sin 20° = g, cos 20°
y




13. o5 1™9 90 oA x of 27

Gp
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14. ohZ ™A x 9] 3H2? (2, PA &t PB £ 9 0 9 H4lot)

®2vi @3v3 @)V @®5v3 ©6\3

E:E:\ﬁ:l
x:4=+3:1
x=43




15. oh3 I3 Zo] ¥ 0 & AABC 9] o] DE &= ¢ 0 of At
t}. AB = 1lcm , BC = 15cm , CA = 10cm € o, ADEC 2] =] <]

dol=?

@ 1lcm @ 12cm ® 13cm @14cm ® 15cm

B ~
(ACDE 9] E#)= CG + CH = 2CG

CG =x 2 5}9H

BF=BG=15-x, AF=AH=10-x
AB=15-x+10-x=11 .. x=7

. (ACDE 9] E8)=2CG =2x7=14




16. ts ™A 2x 9 27]E7?

® 50° @ 170° ® 90° @®)95° ® 100°

N\
5.0ptAD 9] 9F7to 2 /x = /ABD
A2+ o] Al YZhe] 32719] -2 180° O] B2 /x+25°+60° =
180° .. x = 95° o]},




17.

g I Fo A gABCD &= ol A3 Z/ABD = 60°, /ADB = 65°
o o, /DCE 2] 27]& F5}toiat.

i
o

[ 2
> =g 55°

/BAD = 180° - 60° — 65° = 55°
. «tDCE = /BAD = 55°
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18. th& 133 Zo] B 9] Zo]7t 8em O],
AT Wro] o]2 zko] 7|7} 60° ¢l
9] Rul 5 F5H?

® 32V37cm? @ 323\/§7rc 3
@ 6431 cm? ® 1923\/371(31113

B ~
i)

@28X00560°:8x%=4(cm)
mZSXSiHGO":SX\/Tg:él\/g(cm)

uwebA] Y®o] Huj=
1 6443

167 x 4 V3 x 5= Tﬂ(cmS) ojt},




19. & a3 o] /B =175 AB = AC = 6cm ¢! AABC 2] Ho|=?

@ 6cm? @ 6v3cm? 3®)9 cm?
@ 9+v3cm? ® 12V3cm?

AABC £ o]eHAZtgolB=E /B = /C=75°
w2bA] ZA = 180° — (75° + 75°) = 30° ©| L,

AABC = % X 6 % 6 x sin 30° = 9(cm?) ©]t},




20. o 29T Zo]

g ABCD ¢] gt ¥ AD & HlH o
ZHA 7Y AED oA /D = 60° 4 o, AABE
o] ylol=?

D 23 @ 4 ®)6
@ 43 ® 8

~&B

A 607

AB =4, AE = 4sin60° = 2V3, /EAB = 120°

AABE = % X 4 X 23 x sin(180° — 120°)

1 V3
= - x8V3x —2 =6
5 BBR=
2/5”’E
Al 607
S20 /-




21.

o2 183 22 uE 2 ABCD
o] Wol7t 123 ¢ wf, utE R 2
QtHOl dolE x 2t olH x2 & F
SHH?

@ 10 @ 15 ® 20 @24 ® 25

x X xxsin(180°—120°) = 12V3
x? x sin60° = 12V3

x2x‘/7§=12\/§

x? = 24 o]t}




22. o2 1389 9 0°flA ABLOM ©|1 AB = CDo|tt. OD =
5cm, OM = 4cm € ©f, AOCD 9] {o|Z L5fo]at,

AB = CD ©]E&2 ON = OM = 4cm ©]t},
wahA DN = V52 —42 = V25 - 16 = V9 = 3(cm) ©]T}.

@2}A OD = 6em ©] 22 AOCD — % %6 x4 = 12(cm?) o]}




€0, 09

@ +5em @ 3+5em ® 2+5cm
@ 5+2cm @5 V3em

B

A0 = 5cm, OM = gcm, 00’ =5

S 25  5V3
- AB = 5V3(cm)

N
Y




24. g 27 o] 9 0 = aABC 9] Y Pl T, aDEF 9] &3 ¢o]
o}, /FBD = 30°, /DFE = 40° ¢ 4], ,EDF 9] 37]=9

@® 50° @ 55° ® 60° @®)65° ® 70°

B )

BF =BD o|2&2

/BDF = (180° - 30°) + 2 = 75°
/BDF = /DEF = 75°

. LEDF = 180° — (40° + 75°) = 65°




25. S 0ABCD & o] AT E = 30°, /F = 24° & o], zx 9
715 Fstoizt.

>
> =g 63°

/x = /ADF = /CDE

(BAD = /x+ 24° = /DCE

ADCE A zx + 24° 4+ zx + 30° = 180°
S Lx = 63°




